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10. 1f the Durbin Watson d statistic is found to be equal to 0, this means the first order
Autocorrelation is

a. Perfectly positive b. Perfectly negative
c. Zero d. Negative
11.  R2>d signifies the presence of
a. Aulocorrelation b. Multicollinearity
¢. Spurious regression d. All
12. Which conditions should be examined for the identification of a model?
a. Order b. Rank
c. Both d. None
13. The trend of a time series is completely predictable if it is
a. Deterministic b. Stochastic
¢. Unit root d. Stationary
14. The relationship between the independent variable and error variable leads to
a. Estimation error b. Specification error
¢. Regression error d. Simultaneity bias

15. The condition for the uniqueness of the structural parameters is that the structural
model should be

a. Exactly identified b. Over identified
¢. Under identified d. Indeterminate

16. The total number of equations in the order condition is represented by

a. K b. M
¢ G d. None
17. The first time difference of the series Y=Y+ U is
a. Stationary b. Non stationary
c. Unit root d. Determinisiic

18. A random variable Y is denoted as Y, if it is

a. Continuous b. Discrete
¢. Grouped d. All
19. The simultaneity bias is more likely to be eliminated when the sample size is
a. Small b. Sufficient
c. Large d. Inconclusive
20. Which of the following cannot be a predetermined variable?
a. Exogenous b. Endogenous
c¢. Lagped exogenous d. Lagged endogenous

21 USTM/COE/R-01



:,‘”I:’g‘ri:

1

Of umni!

[1OoN stale of Lh

n for LI idenlilication

Yc_‘iill i“{ "n.lllf_‘n-n“!«h‘nv'_.ul 1 model?




